r’k i

SN mbE A &

&1
H 0,.0,.0,.0, 5351k /\ PHE . /\ PEF |

A PFG.\ PGH ffi5hy Ul

0,0, | PE,0,0, | PF,

0,0, 1 PG,0,0, | PH.

MTfi,~ 0,0,0, + / HPE ==,

/ 0,0,0, + / FPG =m.

i 0,.0,.0,.0, I S IL [

& /0,0,0, + 7 0,0,0, =x

< / HPE + / FPG = @D
WACRTH P HIXRE TN A

C'. k45 BC' .DC' \BA' DA’

HER, A BCC'H,
FP//BC',/ FPC =/ BC'C;
TEN DCC'
GP//DC',/ CPG =/ CC'D.
W/ FPG = / FPC + / CPG
=/ BC'C+./ CC'D=/BC'D.
KAo\H, .~ EPH =/ BA'D.
XD ~BC'D+ / BA'D=mx
< B.C' D A" 5 SEIR

& C'P-A'P =BP-DP

& CP-AP =BP-DP

= A.B.C.D 5 3L[H.

R0 LB DL ve iR 2

2.4 D" FIRHHXFRAL
FEUEZe AN S T
wWb+c—-a=2x,c+a-b=2y,
a+b-c=2z

TE,xyzE€R,H
a=y+z,b=z+x,c=x+y.

) A2 i AN 25
=) tz D

25

il 4
chD % 223y+z'
L RN W

X

(_ sl

y x

2x
y+z

X

il

z

+ +=

4z
x4y

4y zZ 2

x+z x Yy

i, -+ L=
Xz
= M mse
y+z_ N0 4x
ED % 223y+z'
FFUEA v A S AT

%E§£Lb+z—a=b+2+a_

2

b

c+a—b_c+a+b_2
b b ’

atb-c_a+b+c
; =

2.

c

i&b+c—a+c+z—b+a+b—c

a Cc

%+—) -6
>(1+1+1)*-6=3.

Zi b BT

:(a+b+c)(é+



3. m Wi/ NATBE(ER n.

NG0B TOUE, UL BT 20 H B = £
R A TR EIE n HIEH n DT .
WUE n IR RISMER 8 Frl X =B 8
RS ER. T2, EN3EA 50, ik
FERAFT o 1 = MAIE R AR s B AT,
R=MIL AR A =ML S E A =M.

X R, BT ) = A T 2 0 A
=Y, ALZ5ES I Bh THU A

BETA I B 5G Bh TS R B E O ki, B
ST =M N R

(n=-2)w+2kn=(n+2k-2)m,

TR, MM =AELEE 0 +2k -2 4~ X
R, B =M b Eif =, W T
=B m=n(HR E=1) , 8% 5
JBSL, BRAR m 3R B B/ i) GBMEL, B R BEAUIR
In—AH BT

T R AN — i B TS B AT Ak
2 H .

FEFIARTEIL WHIAZ I I ZRAE IE n B
AN -2 A=A R, 1 0 HELRIA
KA EXMAL. B, Fror i n -2 =4
A n =3 M =AIEM 1 B =TT

FRRARAN B0 = A2 B O 5l B TR
FOR B 5% 88 = /AT B =4 T s A
2, BT IEI S A =M o 3 ANl =5
1,345 n i =M.

4 n BB, B n =20(1=3). XTIEM
BEhE AA, Ay, mﬁ%ﬁéﬁﬁn? X 45
A1A3 ,A1A4 5"t aA1A21_1 ’ f@fﬁ\:qﬁ E"JEEX#%%%
AA L BOE AAL,, BME n -2 =T
F =3, LA AA, AR EXT AL LA, 2
:/iyl‘fﬂ““‘?éifﬁ A1A1A1+2 q:' ’ ﬁiﬁﬁ;ﬁ\:j‘j%ﬁ
=M, HRm n -3 DA =M. B
BN AAA, ., B O BUERTBY TOUS BB
7”1”5 A, \AI\A1+27FH5§, Bi1§ n /I\%@ﬁzﬁﬂ%

4. 58 ,an -1 <[an] <an.

EXERP n 15

<a>=> lim

n—+w n

1
a——X<
n

sttt tim 15—,

Lan]

=y, lim Lon] _

n—+w n

lim

KOG 2 72
[an] [Bn] _[yn] [6n]

n n n n

[yn]

M n — + o ff,q8 =y8.

APk a=B,y=8,a=y.

N a=y=86=p.

WHhia, Bt #1y,61, 1L,

a>y=0>p.

TR, FEEIERH N W 2

(D) (a-y)N>1;

(2)(8-B)N>1;

(3)BN > 1.

XERER m >N, FiR =544 R
[liin

[am] = [ym]=1,[é6m] - [Bm] =1,

[Bm] =1.

SR —~5 3

F12 X m>NB,EERFET, am,
Bmym Sm A IE XL

iE FEm>N &[am] =A, {am]
=a,a ) _HHFERRHN a=(0.a,a,++),;

K, TEL[Bm] =B, {Bm} =b,

b W) iR A b = (0. biby)ss

[ym] =C,{ym] =c,

¢ M ZHHIFRARHA ¢ = (0. ¢y 55

[ém] =D, {ém} =d,

d W HEHIFER R d = (0. dd,),.

PR E AR

Lam][pm] =[ym][ém].

W AB=CD,H A>C=D>B=1.

Bon=2m,M

[2am] =2A +a,,[2Bm] =2B +b,,

[2ym] =2C +¢,,[26m] =2D +d,.



[ 2am][28m] = [2ym] [26m] 41

(24 +a,) (2B +b,) =(2C +¢,) (2D +d,)

= 2Ab, +2Ba, +a,b,

=2Cd, +2Dc, +c,d,. @)

(1) a; =1,b, =1 i, HFRXOQLHH
AHG AR AT Hi,e=1,d=1. X
@u[f4 A+B=C+D,H 454 AB=CD, 15§
{A,B} ={C,D} 5A>C=D>B=17FJ5.

(2) % a, =1,b, =0 B, HFRQLHH
B8, ORI B B, e d, =0. X2
AN B=d,C+c,D€1{0,C,D}. FJE.

(3)%4 a, =0,b, =1 i, HFRQLHH
BEL, SR B B E. B, e d, =0. QA&
HMNA=d,C+c,DE€{0,C,D}. FJE.

(4)% q, =0,b, =0 B}, HXQHE

¢, =d, =0.

M ,a; =b, =¢, =d, =0.

Bon=4m,N

[4am] =4A +a,,[4Bm] =4B +b,,

[4ym] =4C +c,,[46m]| =4D +d,.

H[4am][4Bm] = [4ym][46m] K0

(44 +a,) (4B +b,)=(4C +¢,) (4D +d,)

= 4Ab, +4Ba, + a,b, =4Cd, +4Dc, +c,d,.

RMTF ZHT TR

a,=b,=c,=d, =0.

F B H 9835 7] LUIEBI X TAE B
k €N, ,a,=b,=c,=d, =0.

Ma=b=c=d=0,am.Bm. ym .6m ¥ K
IEEEH

5| PEAFIE.

ESIFA(m+D)a(m+1)B.(m+1)y,
(m +1)8 ¥R IERAL

HI, a. By 6 ¥ IEEHL

5. 2,3 /\ BHC (583218 1 2 R
R',0 3 A\ ABC B8kt /N ABC I =4 £
HLA LB L CAH HIERLL S BC AT 1
E,BH RJIER LS AC 22T 51 S, CH FITER L
5 BA R 5 T, 8RkE5 00,315 BC 32T M.

& 2
WHR,A T H.S VY i 2[5
M,/ THS = — / A.
A BHC H1,
/ BHC =/ THS == - / A.
H 1E 5% 5E 15
2Rsin A =BC =2R'sin ./ BHC
=2R'sin(t-A)=2R’'sin A
= R=R'
= OB=0C=R=R'=0'B=0'C
= Ui OBO'C hzs)¥,00' T HF-43 BC.
H 05 0" N5 D55 5%TF BC XHRA

OD=0'N = %O’A.

W A B.D.C M g HE 5 i 78 73 06 B 564
1 E D FEN ABC By AMER |, Bl

OD =R & 0'A=2R.

R BOC=2 /A,Bj/ BOM= /A,
Bl ,BM =Rsin A,0'M = OM = Rcos A.

X AE =ABsin B,BE = ABcos B,

cos 2x =1 —2sin’x,
8 0'A>=(0'M +AE)* + EM

= (Rcos A + ABsin B)”® +

(Rsin A —ABcos B)®

=AB* +R +24B-R(cos A-sin B —sin A-cos B)

=¢* +R* +4R’sin C+sin(B-A)

=¢’ +R* +4R’sin(B +A) sin(B-A)

=c¢’ + R* +2R*(cos 2A —cos 2B)

=c¢’ +R* +4R’(sin’B - sin’A)

=b*+c¢" -d* +R.

g%t ,A \B\D\C m):_'\:i:/ﬂ\:@ E‘Jﬁﬁﬂz‘g%



%A
0'A=2R & 0'A> =4R’
S b+ -d® =3R%
PR , i R RS -
&N%lskijnmﬁjﬂk%¥@ﬁ

SR

S — 10\ 1\ 2
A7) () =al)
Ll
2 . _1 2k
ﬁi& Mp = E CZk(—)
= 2

@k (p-1)*
SHGHGD T 2

pz;l (2k)! ”
2@ (2P~

_%M .
=2 o b

_ 51 (k-1 (2% +1)- Qk)( 1y
= (2k) 1!

__Bél Qk+D! (2k-1)1 A
";g;( (k)1 (2 2);,)(p 1)
_1’5—1 QCE+1) 11 27
=k2( (2k) 11 (p-1)

(2k-1) 11 -

Gy n@-D*7)
zg%(p—l)"‘l— = —1(mod p)

= M,= -1(mod p).
W p=3(mod 4),frLL, -1 REH p
) KT
M, M, AR 584 F 5 5K
1

7 BHB R () =2 - 2 -

SEiEB—~ 5| 3L
712 Yx € (- ,1]0f, REf(x) <O.
MWHANY % =1 B, 22 T

ER LS () =50 -5

£ (x)=0. M 2, = - f F

L € (-0 ) B, f(x) >0, f(x) ™
M AR Y

Hx € (x1,%,) B, f(x) <0, fx) 4%
BB 5

Y € (x, 1B, £/ (%) >0, f(x) 745
BB .

X f(1)=0, RFFUEf(«,) <0, BP

s 2 1 4 2 1
Sflx,) =2 _?xl —§=x1x1 _?xl 3

2 2 1_ 8 1

=159 T3 T3 T 150 T3
_8(2)_1
‘w(iﬂ'3<0
4 <4
@%<(%) :257@213<55x3
< 8 192 x9 375.
SRR
5| EAIE.
Mo ,x,,00,x, <1 B, —zx.—L$0.
1 2 n i 3 i 3

[ EES —x +— A HAE «; =1 B, 55

8. Sk —~5 | #

7512 & m&N,. 7

M ={n€Zl -2m-1)<n<2m -1}
HAEREE 2m + 1 AR EL, T H A



TE= 5, A .

P F B IA IR .

M m=1 0, 858 BARAT.

Bk m =k -1(k=2) B}, 858 87

Ym=kbf, EEES M, FTE 2k +1
MARRIEH B ES A, FE2E-1 4
JTTRET M, _, , W IBA R EE S L.

G, EEEAPELAE=ZANATTERET
£4

Mk_Mk—l

={-(2k-1) ,-(2k-2) 2k-2,2k-1}.

(1) {2k-1,-(2k-1)} CA.

Z0ECAMO, - (2k-1)2k-12ZH
4 0;

#0 & AMUWT 2k -2 ANEo

1, 2k-1-i}(i=1,2,,k-1),

l—i, —(2k-1-i)}(i=1,2,,k-1)
HAA-12k-1, - (2k-1) | 2k -1 MK,
2H —XBEES AT, B L.

() {2k-1,-(2k-1)} ¢A.

W{2k -2, - (2k-2) | CA, H HXFRPE
(KB a R -a), RPE2k-1 € A,
-(2k-1) ¢ A T,

(k-1},1i,2k-2-i}(i=0,1,-,k=2),

(=i, —(2k-1-0)}(i=1,2,,k-1),
X2k -1 HPEEA-{2k-1, - (2k-1)}
2k N BEORE X RIAMBEES A

ARSI AL

5| FRAGIE.

e 7 RS RN TH B A AR &R B, (675
Hh AR

x=-2015, x=2 015,

y=-2015, y=2 015.

IR, A B Fh e RV AR AR T

RS, FIATE = 20K PR & (ARIRGE
1L J3) (AR A Y Hh - R AREE Z Ak
T FREFE=ZFEERLIRKIEHN L,
Ly Ly) A5 HAE « Bl b AOEEE Z A%

e L5 GRS Py(inj €11,2,31),
PRI 3.

Pll P21 P31 ll
L
P12 Pzz P32
L
P13 P23 P33
i L, L,
&l 3

AP21P12P33 %E‘D\Apupﬂpzs E@E‘L‘ﬂgj‘jﬂé
PRIE A, BTSSR A S



